EARAROBEEIERT — 2 N— IBISH —F

2014511838 (B) 10@E%FE3H

E{?J;’é‘jc/ﬁ\sﬁﬁéaﬁB 2 Yo% —#% ‘ Xz 2 ‘ (EsEl - | 4 (&) 14000 B
[AE4£] 1% :19,000 ™ ~ 23#%:38,000” ~ 33%&:19,000 ™ . 43&:14,000 H 53 :5,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 4l E/ERLAFNS "7 sﬂéligﬂ“*k 1:(2_4).4 16 [36.9] — | 4 | 476 Ei%l%\?& (KiR)
QiZa—AT IR BTITIAFL GO K e
ol 11| 77— b2V - 8 E’%E 1:(245).0 1-1 38.8| — 5 491 %\1@;;*5}?)
RiZa—A2F52 K Bia—1ATHIA b 0 e ga
317110 45 44 SUéZLSIﬂA (172;70) 3-2 38.3| — 3 (4:350) ﬁiiﬁﬁé (€215:))
RiF 4 N—h b — BTTO-XTFT— YL e
alglio| F—F72= 1N f 3 ES%TE 17251:5) 64 [38.0] — | 6 | 419 1%?%‘%31(%@)»_
R LITO— B hSLIANTLR ) | gmatt 75170
5155/ I>VTTLAY it 4 EJ%E?E (11:215/.22) 9-8 38.0| — 8 436 iiﬁ;ﬁ;*ﬁ
LT RIATAT = BTIAFAT Ty O T3 g
6 o| TA—NRIY—2 # 3 E%ﬁk (11:2:/.8 77 |886| — | 1 | 454 %‘(g;ﬁiﬁ}g@%
R:VPRYIYRIR B:F4F—TLAY (=1 TAD4S
7 glETIXIFN— i3 556*%132 (11:2;.‘3 3-3 39.2| — | 12 | 459 2@&,&2 (KiR)
RiYZRE—3IZR4— BINATLLKF4T M0 | Zk2 %y ¢
8 3 OXREFR A 44 EE:;MSE (11:216/.20) 5-5 39.2 — 7 473 %%{;E; (7KiR)
L:A—JX(4 224 B:OAXRETAXT 1= (+6) EvJdLy RT7p—L
; : 4 5 | HEEME— 1:26.0 8-9 8.9 — 2 475 | /NEEEAE (EERE)
9|5|6| FHIA—FK 56.0 ¥ =
LT ETANT IR BT EIA VLYY " )| s
wlzlglvv b=Fvv> £ 6 ij;!;l%@ 1(:12/%)1 12-11 |38.2| — | 10 | 489 g%ﬁmﬁﬂ GKiR)
L:a=—/xLlLy b BiEa-—FTowUL (-3) BIN77— L4
1118 l11| IV EHFF v > it 3 ;EZJ%@E (11:236/.44> 10-10 |38.7| — 11 449 Zﬂgg@ (7KiR)
2B —F%2 02> B:TIAY—F © BF ®it
b Sl ETA it 4 EZJ[:)%’ (1;{0% 112 |445| — 9 447 55(23%?_(7;’2');)7
QAN EAO— B:FF—TU-X %0 | gmpsg
@ 1—F—@&BIEf
13—7—
23—7F—
d2=7r= (1,7),(8,10),3,12,2,6,5,11,4,9
40 —F— 1,10,8,12,3,4,2,5,6,11,9,7
[ RN
B OB 4 740 714K 1-4 970/ e & 1-4 3,710 &R 1-4-10 3,990
7 B 4 180/ 4-10 4701 | | B = 1-4 3,720 | | 3EE 4-1-10 35,070
1 370H 1-10 820M B H# 4-1 6,850
10 180F4

ABICOVWTRDTEEERROODE. TR LIV,




